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I.CHOOSE THE CORRECT OPTION 
 
1.Which of the following is necessary for production? 
(a) Land      (b) Labour             (c) Capital             (d) All of the above 
 
2.  Which of the following is a modern farming method? 
(a) Multiple cropping          (b) Use of HYV seeds       (c) Use of chemical fertilizers   (d) Both (b) & (c) 
 
3. How many families live in the Village Palampur?  
(a) 150                         (b) 250                         (c) 350                  (d) 450 
 
4. Which of the following is a rabi crop? 
(a) Wheat                  (b) Rice                            (c) Cotton                         (d) Jowar and bajra 
 
5. Which among the following states was first to try out the modern farming methods in India? 
(a) Haryana                 (b) Bihar                    (c) Kerala               (d) Gujarat 
 
6. Working capital stands for: 
(a) Tools, machines and buildings           (b) raw materials and money in hand 
(c) total share capital                                 (d) fixed deposits in financial institutions 
 
7. Where do most of the small farmers borrow money to arrange for the capital in Palampur? 
(a) Banks         (b) Co-operative Societies      (c) Village money lenders     (d) Friends and relatives 
 
8. Which Kharif crop is used for cattle feed? 
(a) Sugarcane                        (b) Potato                            (c) Jowar and bajra                     (d) Wheat 
 
II.FILL IN THE BLANK 
1. _______________is the standard unit of measuring land. 
Ans. Hectare 
 
10. The minimum wages for a farm labourer set by the government is   _______________.  
Ans. Rs.300 
 
2. HYV seeds stands for __________________. 
Ans. High Yielding Varieties of seeds 
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3. To grow more than one crop on a piece of land during the year is known as ________________ 
Ans. Multiple cropping 
 
4. The activities such as small manufacturing, transport, shop keeping are referred to as ________.  
Ans. Non-farm activities 
 
5. ______________is the main production activity in Palampur. 
Ans. Farming 
 
III. WRITE TRUE / FALSE 
1. The first few tube wells, in Palampur, were installed by the government. 
Ans. True 
2. Soil degradation is an effect of multiple cropping.  
Ans: False.  
3. Yield is measured as crop produced on a given piece of land during a single season 
Ans. True 
4. The consumption of chemical fertilizers in Punjab is highest in the country.  
Ans. True 
4. Fixed capital refers to a variety of inputs required at every stage during production. 
Ans. False 
5. The traders of Palampur are shopkeepers who buy various goods from Wholesale markets in the 
cities and sell them in the village 

Ans. True 
 
IV. ASSERTION AND REASON 
In the question given below, there are two statements marked as Assertion (A) and Reason (R). 
Read the statements and choose the correct option: 
 
1. Assertion (A): Persian wheel was used to draw water from wells for irrigation. 
Reason (R): Use of Persian wheel for irrigation is a modern method of farming.  
A. Both A and R are true and R is the correct explanation of A. 
B. Both A and R are true but R is not the correct explanation of A. 
C. A is true but R is false. 
D. A is false but R is true. 
 
2. Assertion (A): Multiple cropping means to grow more than one crop on different piece of land.  
Reason (R): Well developed system of irrigation is required for multiple cropping.  
A. Both A and R are true and R is the correct explanation of A. 
B. Both A and R are true but R is not the correct explanation of A. 
C. A is true but R is false. 
D. A is false but R is true. 
 
3. Assertion (A): Small farmers have to borrow money to arrange for the capital at very high rate 
of interest.  
Reason (R): Small farmers cultivate on small plots of land and they have little surplus.   
A. Both A and R are true and R is the correct explanation of A. 
B. Both A and R are true but R is not the correct explanation of A. 
C. A is true but R is false. 
D. A is false but R is true. 
 



26-8-2021 Prepared by: Mrs. Dhanila Sajith Page 3 of 2 

 
 
 
 

 
 


